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* The images and the pictures in this lecture
are provided by the CDs accompanied by

the books
1. University Physics, Bauer and Westfall,

McGraw-Hill, 2011.
2. Principles of Physics, Halliday, Resnick,
and Walker, Wiley, 8t and 9t Ed.

* The rest is made by me.
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Uncertainty principle
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Chapter 37 Quantum mechanics




Wave function




Schrodinger equation
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Heisenberg’s uncertainty principle
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example

Electron: m, =9.11x10>"kg, v =2.05x10°m/s, Av =1.5%

p, =myVv=1.87x10""kg - m/s

L 6.63x107°*J-s
Ap  (0.015)(1.87x107**kg - m/s)

= 2.37x107°m =~ 24nm = 100atomic diameter

Golfball: m=45g, v=35m/s, Av=1.5%

AX = L =3x10%m
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w (x,1)[ : probability
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Infinite potential well
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normalization
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